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k=k-1; S=order(dis) [1:k]; u=sort(table(y[S]),decreasing=TRUE)

11 fTH: return(v) — return(names(u) [1])

H 53 L 2: )RR — D ER/)

10. H54 v 22 4 8917H (4 fEfT). H 61 v 7 4 847H (2 f&h): pnorm — dnorm
11. H57 F10: B *xx — zf
12. 135 v F A 1717H: level=1 — level=0 (T XT level=0II7/%%)
13. E 58 M 27: o = (up+m) /2 CHRBILERE — o = L(um+w) ZED. RZ F
S (g — ) WERT 2 (NP 01242) £81C%5 22 2Ry,
£3E
1. H64 3MEHDEN 431TH: top.seq=1+seq(0,135,10) — top.seq=1+seq(0,135,15)
2. H66 123 XgeR™P - Xg e R*PTI X g e RV=XP 5 X g € RV=r)*(l)
3. H66 I 5: Zx]xf = Zx]mJT + Zx]xf — Za:Jij = fox] + ZIJT:L']
Jj=1 Jjes JgSs Jj=1 Jjes Jés
4. H 66 L 10: Sherman-Morroson-Woodbury — Sherman-Morrison-Woodbury
5 H66 T8 - (XTX) 'XEys — (XTX)™' = 3 — (XTX) ' XTys+(XTX)"!
6. H67Hl42 TofEr ] HIFk



7. #l42 705 46,11 17H: x = X
8. H 68 F2: 1.6H1 — 1.7 ff
o e 1
9. H68 T 9: };{ah —a)? - ’;{ah - ;;aj}
N 2 N 2 N 2 (X 2
10. E69 T 1-EH 70 |2 B X ORI 38: N{le} {Z } {Zly} N N{Zly} ,
N
g )
11. H 74 [H7 32: (3.7) HIFR
12. B 74 B 33: Xg € RV-mxP 5 Xg e R*0PFD X g € R™P — Xg € RWV-xpHD)
Z?ZXsb’s%y—Xsﬂ
F4E
1. H81 2®HFHDENLDEA]: library (MASS) ZiBHN
2. H81 2&FHDE/L 6: log(res$value) — log(res$value/n)
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11. H124 T12: | Kx(z2,11) Ki(22,y2) Kia(zo,y3) | = | Ka(ze,21) Ka(m2,22) Ki(z2,73)
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